
 

0

20

40

60

80

100

120

140

160

180

200

220

240

260

280

300

320

340

360

380

400

420

440

0 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000

rotational speed n (rpm)

p
o

w
e

r 
P

 (
W

)

V = 3 m/s

V = 4 m/s

V = 5 m/s

V = 6 m/s

V = 7 m/s

V = 8 m/s

V = 9 m/s

V = 10 m/s

V = 11 m/s

Opt. cubic line

Parabola for Vd = 4 m/s

 

fig. 4  P-n curves of the VIRYA-1.8W rotor, optimum cubic line,  parabola for a resistor load 

           for Vd = 4 m/s 

 


